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= 1 3, 609, 700
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= 1 3, 278, 500
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m2 12, 400 131 1, 624, 400
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t 8 25, 000 200, 000
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= 1 331, 200
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= 1 331, 200
RIS B 15
AH 24 13, 800 331, 200
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= 1 3, 609, 700
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T 55Ul
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T B AR M OVl D7 T 2 B4
= 1 906, 800
TEHF
= 1 9,974, 800
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Ny N4 HAlhsE £ 2024. 03
1 /k E"fﬂﬂ% A AR A 2024. 03
I 95 B AR AL 1.000-00000 0.0 0
B 35 |PhTEA
HLAZ t FANT A B ] HLA 95 000
WA T (1) an i [ B A o W
% (t
t 25, 000 25, 000
akiil 25, 000
HLf 25, 000 Mt
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1 /k Effﬂﬂié A i F 4 A 2024. 03
SRR IR AL 1. 000-00000 0.0 0
B 4% 2CIHs 5 TH A
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R AR S i [ KR L & W
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